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 
            – 
3312                 3 

 
 

 
     2

( )aqMg       ( , )H Cl  

2
( )aqMg  

2
( ) ( ) ( ) 2( )2s aq aq gMg H Mg H    

 

  0t  1,0g
30V mL     

0,10 /C mol L 
1    ( / )ox red   

 
 

2
( )aqMg  

2( )aqH 

   2
( )aqMg     

1 
12mint  - أ  

1  - ب
2

t 

2,4mint  
2

( )aqMg 0t  

( ) 24 /M Mg g mol 
 

 

–2 2( ) ( ) ( ) 2( ) 22 2 2aq aq aq aqH O I H I H O     
I  

1  
2 ( / )ox red 

II  
0t 20ml( ) ( )( , )aq aqK I 0,10 /mol L

8,0ml2,0ml0,10 /mol L 
  

 1420 1178 930 682 434 126 0 ( )t s 

2( )aqI


   6,53 6,26 5,84 5,16 4,06 1,74 0,00 
2( ) /aqI mmol L   



                                                           2  4                                    
  

1  
2  
3 2( )aqI  x 

4 MAXx
 

III  
x 

1 300t s 
2  
3 1

2
t 

 
 
                                                                                                                                                                         

                                                                                                

 
 
 
 



                                                           3  4                                    
  

 
 

226
88Ra 

1 22688226
88Ra 

2 226
88RaA

Z X

83Bi82Pb86Rn89Ac 
3 11 11,36 10 s   226

88Ra 
4 0 1m mg226

88Ra0 0t m
t 

  1
2

tNt

 

1
2

5t 1
2

4t 1
2

3t 1
2

2t 1
2

t 0t t 

      ( )m mg 

 
 5t  

( )m f t 
 

     160 F330VC
12500R  

E=300V   CU     RU        
12 

 
 
 

 
 
 
 
 
 
 

 
 
 

1 1( )i tCURU 
2( )CU f t 

3RC  
2 1CU 
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t(S) 
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2 



                                                           4  4                                    
  

2(1 )
t

CU E e 


  

3 .
t

RU E e 


 
1 ln .RU a t b  
2 abE 
3 ln RUln ( )RU f t 

   
  C

 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

239 1 138 90 1
94 0 56 0ZPu n Ba X y n    

1 Zy90
Z X 

 Y U Sr Pb 

A 89 235 90 208 

2  
1

0( ) 1,0087m n u239
94( ) 239,0522m Pu u138

56( ) 137,9050m Ba u 

90( ) 89,9070Zm X u 

3 1g239
94Pu 

4 1mol393kJ
1g 

( ) 12 /M C g mol236,023 10AN   
 
 

  
                                      

  
                                                      

2 4 12 10 6 8 

t(S) 
 1 

 2 

 3 
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 5 
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Ln UR 


